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Consider the following three player game in characteristic function form. 

ν{φ}=0
ν{Α}=21 ν{Β}=18 ν{C}=8.5
ν{ΑΒ}=60 ν{ΑC}=40 ν{BC}=37
ν{ΑΒC}=100  

HINT:  You might find it easier to  convert this game to its strategic equivalent, and solve this 
game instead.  If you do so, please convert your answer back to the original units.  

Solve the game using four solution concepts from the text.   You may select any four of your 
choice, but the concepts must be suitable for analyzing games in characteristic functions.  

You will  receive four  points  for  the  first  correct  answer,  three  points  for  the  second correct 
answer, two points for the third correct answer, and one for the fourth answer.  Your responses 
will be sorted so that the highest quality answer is graded first.  Should you attempt more than 
four solutions, the least correct solution will be dropped from further grading. 

Use additional paper as needed, including triangle diagrams.  Please write your name and student 
number on each sheet. 

A correct solution may involve graphical analysis, logical analysis, and algebra. Be both clear and 
complete. A brief justification in a sentence of how you might use the technique is required.  See 
the table below for additional guidance.  A comparison of the answers is appreciated, but not 
required. 

Table 1: Providing a Clear and Complete Answer


